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GIESR= 24 HEtHdE oAl ASHSH1ZE 8(2S) st& 50,000 60,000
Ao El oE HEtYd e oAl =22 32-8(85) sts 40,000 50,000
za(Ah 2 & 2 E HEtHE oAl ASMHSH3ZE 6(2S) st 40,000 70,000
ing2 & 2 (HEtdkE oAl ASMSH3E 2(2s) stE 30,000 50,000
s HilEteAH| O] 28 (HEtdk oAl &322 30(3H3) stE 50,000 70,000
EESI N i 2E  |MEtEE oA ASMSRE1E 26(83) sts 40,000 40,000
gng 28 |HEtdE oA Ss22 15(83) sts 40,000 50,000
i SR e [HEtEE A SsM1E 16-6(8H5) sts 40,000 50,000
HA=2Y 2 et E oA ASUSEZE 14-1(&S) Bl 25,000 25,000
B S 2 28 (HEtdk oAl &322 23(3HS) Bl 40,000 50,000
689 =2 2 MEtEd e oAl GA3ZE 21-10@HES) CIPSES 50,000 60,000
FL=g =g etz oAl M43 21-6(3HES) Y s 50,000 60,000
AMADE 2 HMetgd e oAl QA3 21-3=HES) LIPSES 40,000 50,000
2|H A 24 HMete e oAl G432 24-7EHES) A E 35,000 35,000
==y 2 HEtd e oAl GA3Z 243t 3) CIPSES 50,000 60,000




67 orz|Ze o HEtHEE oAl A3 21-4(2ES) A E 50,000 60,000
68 XO| &l 2 MetEe oAl A3 24-8(21E &) CLIPSES 50,000 60,000
69 OfEF oI 24 HEtEE oAl QA3 21-5(21ES) A E 50,000 60,000
70 oAz E oY Fetd e oAl 462 43-4(HES) MAS 50,000 60,000
71 et e 2 E Fetd e oA RH6Z 42-4(HES) MAS 40,000 50,000
72 MERY 2H HeEtd e oAl 462 42-3(MES) MES 50,000 50,000
73 e 2E HEtE T oAl GAZ 8-4(2HES) CIPSESS 45,000 50,000
74 CHCHEolEd 24 MEtgd e oAl QA3 21-17EES) IS 50,000 60,000
75 Y2rEQITH 2 MEtE T oAl GA3Z 21-11EES) CLIPSES 60,000 80,000
76 OeKRIONSE o HMetdz oAl d438 21-153HES) SHALE 60,000 80,000
77 A 2| KpHf| A 2 & 24 Metde oAl EESRZE 69ESTS) | 255 40,000 55,000
78 AejLt= =4 Metde oAl 22106, 65,75(ESS) | 256 70,000 80,000
79 ZAZZHE oY HMetgd e oAl 012 95-9(0 M 5) M s 40,000 40,000
80 YoHHH =L ATH] = Metd s oAl 242 58(E543) 2TE 70,000 90,000
81 Aoz L= HMEtHE oAl 0212 39-14(01 M &) M s 40,000 50,000
82 Sto| ol E 24 MeteEe oAl 22122 84(E538) zTE 50,000 60,000
83 Je|AsHHE 2 MEted e oAl O 212 43-17(0 M) Ms 40,000 50,000
84 M) 2 & 2 H HEtHE oAl O{Z2E%E 76-1(EF3) | 258 50,000 60,000
85 17t 2 MEtE T oAl O 212 43-21(0ME) Ms 50,000 70,000
86 2|2 2 E MEtd T oAl O 212 43-13(0 M S) zTE 50,000 60,000
87 KIZE e |[HMEtEE A 2222 33(EFS) =TS 50,000 60,000
88 252 & 28 (MetEE oAl 22322 65(8FS) ZTE 50,000 60,000
89 nZ2n3 2 |MEIEE oAl IM1R 95-8(0 M) HMs 40,000 50,000
90 Krep= 2 ([MEtEE oAl SMU4ET7E 11-10(348) | Sits 60,000 120,000
91 St L2 & 2 |MEEE oA SMETE 11-11(E44S) | Sits 40,000 60,000
92 oA 2 |MEEE oAl SMUHETE 11-20(348) | Sits 50,000 70,000
93 ZEUZHE 2E  |MEtEE oAl S4EH6E 11-18(34s) | Stts 40,000 70,000
94 agzg 2H  |MEtEE oA S4HE8ZE 17(84tS) Sits 40,000 50,000
95 2HOHIX|LADE) - (|FEtHE oA SA4HBZE 17-15(84s8) | SLE 77,000 110,000
9 Moj| =2 & 2H Metgd e oAl SAEH7ZE 11-15(84t8) | 848 40,000 50,000
97 H| 7 2 24 FEtdE oAl SM4EH7ZE 11-24(34ts) [ Sis 40,000 50,000
98 R 2 |HEtdE OA SUHEH6E 7(3HS) s 40,000 50,000
99 o FADH 24 Hetd e oAl SMEHT7Z 8(84H3) Sits 40,000 60,000
100 HNeszmd 2d FEtd e oAl S4E7Z 13(84S) S 50,000 70,000
101 aEzY 2 HMeteE oAl S4HH8ZE 11-16(84ts) | S4& 30,000 40,000




102 MEete = H 2E  |MEtEE oAl S44EH6E 11-9(84HS) ShE 40,000 50,000

103 L A2 E 2E et E oAl SUEH6E 17-7(84H3) EaNE S 50,000 70,000

104 Of2f =2 & 2 |MEtEE oAl S4EHE6E 11-15(848) | Sits 35,000 40,000

105 eEZHHN HM |MEHEE Of=A| SR ZE 78(5%tS) SatE 40,000 60,000

106 Of s=H| X[ A HM |HEtHE O5A| SRR 64(52S) Eciesy 90,000 150,000 | 7+AG 43t
107 Ctetm & 2E  |MEtEE oA S22 13(32s) 335 30,000 50,000 47| HES
108 dEE A H S |HEtHE A S2HE2Z 20(32tHs) 3%& 40,000 60,000

109 S ot & SE  |HEEE OFA LEEE 20(3%S) 33tE 65,000 120,000

110 PIINNHXESIRAAAESRA|MEIEE OjAl 3322 16-1(33H8) 335 15,000 15,000

111 e o 2 |HEtEE oA S22 8-1(32HE) 3%tE 35,000 50,000

112 CHEAIAESIR A Y ([MEtEE A S3H2E 15-1(3%Hs) 33tE 30,000 45,000

113 2|2 2H  |MEtEE A S22 15(32s) 335 40,000 50,000

114 Zeng 28 |HEtdE oAl S22 25-1(3%H3) 32ts 30,000 40,000

115 ZalADE 2E M2l E OA SEE 87-1(32S) 33Hs 30,000 50,000

116 =5 HM  (ME2tEE oAl SMS AFZ 9 =S 65,000 120,000

117 Sif EE 2FHI HM  (MEtEE oAl S4S ZEHBCLRE 85 = 80,000 90,000

118 [8Hx|HEz2gHM] HM [MetHE oAl S4S TR 76 =S 60,000 130,000

119 CEHEH S |FEtEE oAl S ZEECtE 93 =S 50,000 60,000

120 DSz & o4 (HEtHE oA Sits BHE 42 =SS 50,000 60,000

121 e AH HM  [HEtEE oA S4S TR 9 sit= 100,000 139,000

122 LtFH M HM  (M2tEE oAl S4S ZH4Z 53 NS 60,000 80,000 ol
123 ASHHEN HM Hetd e oAl AR 2 2(5%s) S3ts 85,000 150,000

124 X EHM HM Hetd T oAl Ol=AT2 1(F2HS) Ssls 96,000 150,000

125 of = ot 153 H M MetdE of4Al Ol ABHE 20235(F5E) | B35 100,000 185,000

126 Ctojotz & 2E  |MEtdE oA ISH1E 6-3(13) ns 40,000 60,000

127 2710|2 oY HMEted e oAl REEH1Z 5-5(18) ns 50,000 80,000

128 L7t 23 HM |FEHEE OfF=A| SR ZE 66(52S) sz 59,000 119,000

129 o= L= Hetde oAl RSEH1Z 6-1(13) ns 40,000 60,000

130 D HE-E| 2 E Mg oAl 512 6-12(15) = 30,000 50,000

131 HEUAAESRA| Aasstea | HEtHE oA O|&MEHE 191(3&s) | Tat= 15,000 18,000

132 D THE L =4 HEtd e oAl O|=MBHE 135(F%s) | e 95,000 140,000

133 BHLAESIRA | Azestea | MEHE O5A| S22 2-2(3YS) Rk 25,000 25,000

134 S OHEHICHEIM HN  |H2tEE oAl O EEE 159 (BYE) | BYE 108,000 206,000 AL} IS
135 HCH O AHAESI A HAAESRAIMEIH E oA SEE 18(LAT) IAE 20,000 22,000

136 rEZHE 2E  |FElHE oA SYE 72-21(5L3) Rk 40,000 70,000

137 A7 |E2d |ALESRA(HEtdE oAl RESEH1Z 5-4(13) s 15,000 20,000

138 =R 2E et E oA QE4ZE 52(RES) REUE 50,000 50,000




139 T2 28 [HEtdk oAl RE4Z 53(EI) s 45,000 60,000
140 FHo| 2 & 2 |FHEtdE oAl QE4Z 55(ES) REUE 50,000 60,000
141 oo el 2 [HEtdk oAl RE4ZE 54ES) s 40,000 50,000
142 AMELZHE oY Hetd e oAl 2E4Z 59(2ES) REUSE 50,000 65,000
143 osteAnH 2g Hetd e oAl 2842 61(2ES) AUS 60,000 70,000
144 el 2 & 2H HeEtde oAl 2E2Z 12-6(2E ) EUSF 40,000 50,000
145 lpS (e oY HMEtd e oAl 2222 12-4(2ES) EUS 90,000 100,000 | d=7| H&
146 =Rl 2E |TEtEE oA QE2Z 12(2ES) EUS 40,000 50,000
147 ez Y [HEtEE oAl RE4Z 48(2ES) REUE 40,000 50,000
148 EQIADE o HMetdz oAl EE32 121(EES) = 40,000 50,000
149 CRoH oY Hetde oAl 25932 141(253) =53 40,000 50,000
150 G Ea | 2 E Hetde oAl 2932 6-1(=93) =8 40,000 50,000
151 2P ERH 24 Hetde oAl £532 6-21(=95) =593 35,000 40,000
152 ERLDH oY Fetd e oAl 25H2Z 6-61(=93) =593 40,000 50,000




